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LS I AN N oA H % 95.4 100.0 - - 95.4 96.9 97.1 91.2
i 4E 7 A % 102.4 104.7 - - 102. 4 116.4 101.7 104.3
F oy vy bk 252 305 104 372 103 100 1272 147 933 19 079 128 854 -
SET I S i oA K % 101.4 101.4 101.1 127.7 101.5 83.9 104.7 -
Al 4E WA b % 101.8 101.0 101.0 104.8 102.4 93.1 104.0 -
H = N2 130 834 130 834 - 130 834 - - - -
£ L P G oA K % 96.6 96.6 - 96.6 - - - -
A AR WA b % 92.5 92.5 - 92.5 - - - -

2. k& H @) IE (FIIF%

=1 ES A H E A
| H B fir & at ot NA(FHETE R }AL)L) i%fﬁﬂ; ot & ‘ g% A [0) %iﬁ P
R 10ALLTF) 2 NEYE:

F¥uA—hFn 45 003 699 1 253 676 286 107 91 713 875 856 43 750 024 125 253 29 632 858 13 991 912
£ 4T ¥ & BMOA % 102.8 99.0 100.5 99.1 98.5 102.9 100.0 103.2 102.4
AR HOA B % 105.8 96.5 100.3 93.4 95.6 106.1 100.1 105.0 108.7
o Uy bk 3 669 418 15 717 - - 3 653 702 2301 2 639 334 1012 066
L A N mooH % 102.4 98.8 - - 102.5 96.3 103.6 99.5
A AR ROA % 103.7 100.2 - - 103.7 111.3 102.8 106.3
F =T N N 277 412 116 748 115 779 969 160 664 20 415 140 249 -
H [ H B A Kk % 101.6 100.1 100.1 99.7 102.7 99.3 103.3 -
] AR HOA B % 101.8 96.2 96.2 94.2 106.3 97.4 107.7 -
R o Uy bk 132 150 132 150 - 132 150 - - - -
&= L P G mooH % 98.8 98.8 - 98.8 - - - -
Al R OA % 90.8 90.8 - 90.8 - - - -
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F*xm A —FL 43 830 696 1120 962 268 660 101 660 750 642 42 709 734 108 947 28 172 031 14 428 756
SR S S = oA % 94.1 91.2 0.0 93.7 90.0 94.2 93.9 90.5 102.3
Al 4E W A b % 104.5 98.2 0.0 106.3 94.6 104.6 98.0 102.9 108.4
E= U % 3 698 906 14 037 - - 3 684 869 2523 2 558 847 1123 499
LS I AN N oA H % 94.6 90.5 - - 94.6 104.1 91.6 102.2
" i ROA % 104.7 105. 4 - - 104.7 109.8 100.7 115.0
F =) B NN 234 357 103 249 102 277 972 131 109 17 712 113 396 -
SET I S i oA K % 92.9 98.9 99.2 76.4 88.6 92.8 88.0 -
Al 4E WA b % 102.9 102.7 102.7 100.3 103.0 99.8 103.5 -
#
¥l .y b 116 831 116 831 - 116 831 - - - -
& L P G oA K % 89.3 89.3 - 89.3 - - - -
A4 WA % 91.1 91.1 - 91.1 - - - -
2. k& H @) IE (FIIF%
=1 ES A H E A
| H B fir & at . NA(RBEEBEU AL E)| FTHE . ®x &k H g .
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R 10ALLTF) 2 NEYE:
F¥uA—hFn 40 727 931 1 158 042 252 810 95 663 809 570 39 569 889 117 538 26 126 648 13 325 703
£ T ¥ = BMOA % 90.5 92.4 88.4 104.3 92.4 90.4 93.8 88.2 95.2
AR HOA B % 105.6 100.4 105.0 95.5 99.6 105.7 103.1 104.3 108.8
=R N7 3 337 432 14 563 - - 3 322 868 2 398 2 353 899 966 571
L A N mooH % 91.0 92.7 - - 90.9 104.2 89.2 95.5
" Al 4E WA b % 103.5 109.3 - - 103.4 116.2 102.3 106.2
F E= U % 256 171 108 097 107 301 796 148 074 19 380 128 694 -
H e H B A Kk % 92.3 92.6 92.7 82.1 92.2 94.9 91.8 -
] AR HOA B % 106.0 100.4 100.6 85.4 110.4 105.2 111.2 -
R =) B NN 124 450 124 450 - 124 450 - - - -
= L P G moA K % 94.2 94.2 - 94.2 - - - -
Al 4E W A b % 98.4 98.4 - 98.4 - - - -
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E & = ) 10ABLT) 2 2 ®OH E
F*xm A —FL 47 308 698 1 203 387 268 096 96 413 838 877 46 105 311 117 741 30 652 675 15 334 895
SR S S = CITD = R = A7 107.9 107.4 0.0 98.4 111.8 108.0 108.1 108.8 106.3
Al 4E W A b % 101.8 97.5 0.0 96.3 98.0 101.9 95.5 101.5 102.7
E= U % 4 048 745 17 248 - - 4 031 498 2 849 2 867 806 1 160 843
LS I AN N oA H % 109.5 122.9 - - 109. 4 112.9 112.1 103.3
" al A H A % 105.3 108.8 - - 105.2 119.1 104.2 107.8
F =) B NN 248 480 108 960 107 911 1049 139 520 18 443 121 077 -
SET I S i oA K % 106.0 105.5 105.5 107.9 106. 4 104.1 106.8 -
Al 4E WA b % 95.0 93.6 93.5 106.1 96.1 91.1 96.9 -
#
= N2 131 048 131 048 - 131 048 - - - -
£ L P G BMOA % 112.2 112.2 - 112.2 - - - -
A AR WA b % 95.4 95.4 - 95.4 - - - -
2. k& H @) IE (FIIF%
=1 ES A H E A
| H B fir & at . NA(RBEEBEU AL E)| FTHE . ®x &k H g .
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R 10ALLTF) 2 NEYE:
F¥uA—hFn 44 640 238 1 237 691 274 328 98 654 864 708 43 402 547 127 368 29 047 996 14 227 183
£ T ¥ = BMOA % 109. 6 106.9 108.5 103.1 106.8 109.7 108.4 111.2 106.8
AR HOA B % 103.3 95.6 99.2 85.5 95.8 103.5 100.9 100.4 110.4
=) B NN 3 622 303 15 167 - - 3 607 136 2601 2 587 214 1017 321
PS VoA I mooH % 108.5 104.1 - - 108.6 108.4 109.9 105.3
" A AR ROA % 102.2 98.5 - - 102.2 109.9 99.9 108.6
F E= U % 278 206 114 113 113 174 940 164 093 20 208 143 884 -
H [ | B A O % 108.6 105.6 105.5 118.1 110.8 104.3 111.8 -
] AR HOA B % 103.8 95.0 95.0 97.8 111.0 99.1 112.9 -
R =) B NN 130 032 130 032 - 130 032 - - - -
&= L P G mooH % 104.5 104.5 - 104.5 - - - -
A [ OA % 92.9 92.9 - 99.9 _ _ _ ~
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